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COMMON FIRST MID-TERM TEST JULY 2018
Standard XI ~ Reg.No. .--...
. Time: 1.15 hours. : PHYSICS ' " Marks: 35, -
Part - | i ‘
10x1= 10
quare of velocity, then the d:menswn of proporthﬂa"tY

T

l Choose the correct answer:
1. If the force is proportlonal tos
constantis
a) [MLT9 b) [ML'1T°] c) [MLT] - d) [ML?T] '_
| is 2%, then the error in the determma_tlon of

. If the error in. the measurement of radlus
surface area of the sphere is

Gl p) oy TR TR d) 6%
; The velocity of the partlcleis glven by v=a 5 +ct2 The unit of b will be _
-1 e b)




‘ 2) et , X1 Physics
Part - Il : _ e :
Il. Answer any 3 questions: (Ques.No.14 is compulsory) 3%2=6
11. Write any four limitations of dimensional analysns '
12. Define the S.I. unit of temperature.
* ' 13. Write down the Kinematic equations of circular motion.
14. Two balls are released simultaneously from the top of a burlding, one is allowed to fall .
- freely and the other thrown with some horizontal velocity. Of the two balls, which one-
will hit the earth first? Substantiate your answer with proper reasoning..
15. Calculate the average veloc;ty of the partrcle whose posmon vector changes from .
f, = 5i + 6] to T, = 2i + 3] in a time 5 second.
: Part - 11l y 5
lll. Answer any 3 questions (Ques.No.20 is compulsory) , I p
~16. Ifin cgs system the value of 76 cm of mercury pressure is 76 x 13 6 x 980 dyne cm?,
_convertitinto S.1. unit. | . e R
17. Write any 6 rules for determlnmg significant figures. ~ *

18 Derive an expressron for the magnitude of resultant vector of two vectors u51n""" "a_r.,i_gjev
Iawofaddrtlon ofvectors i o B “”r

i
iy

£751 'from the batsman Will the ball go fora srx'? (Neglect the air resrstano,er i

T '_'je houndary line of the cricket ground is located atep




